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u(s)  Js+p Jy(t) + py(t) = u(?) .
§(t) = Sy(t) + Su(t)
IREEZERIFRIZ I RD KI12755
#(t) = %x(t) + %u(t) 1
y(t) = (1)
RICS AT Ls

d Q?l(t) . 0 1 $1(t) 0 .
i Lzuj ] {0 4 Lw) o
y(t) =0 1] {28 L0 u(®)

REEZEMRBIZ2REZN, EEEBIIIRDE=SH, x/IPERRTEL,



THDKRES

11 2 3

11 2 3

10



[ MATLAB:EE ] [ Scilab;EE ]

2.5.3
 [A, B, C, D] =tf2ss(num, den)* s=poly(0,’s’)
e Ss Pb=ss2ss(ss P, T) H = (4*s+8)/(s"3+3*s"2+4*s+2)

ss P = tf2ss(H);
-
FHIZAMN S
 ss Pb=ss2ss(ss P, T)
2.5.4

* Ss P min=ss(ss P,’min’) e« ss P=syslin(’c’,A,B,C,D)

Ss P min = minss(ss_P)
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